
Floor build (by others)

M
in

. d
ep

th
 to

 m
ak

e
go

od
 fi

ni
sh

es 254x254x107 UC wrapped
with 2 layers of D49 mesh
(lapped 100mm) and cast
within 450w x 400dp RC35
concrete ground beam

SECTION 6-6
SCALE 1:10

450

40
0

2No. 406x140x46 UB's connected
together with 140x140x6 SHS
connectors @ approx 1000mm ctrs
with 4No. M16 Gr. 8.8 bolts through

FFL as existing

1No. 254x254x107UC wrapped in two layers
of D49 mesh (lapped 100mm) and encased in
450w x 400dp RC35 concrete

SECTION 2-2 - "PICTURE FRAME"
SCALE 1:25

NOTE - ALL GEOMETRY TO BE MEASURED ON SITE

203x203x52 UC resin
anchored to existing wall with
M10 Gr.8.8 bolts through
250x50x8thk tag plates F6 to
UC at 225mm vertical ctrs

4

4

6

6

3

3

203x203x52 UC resin
anchored to existing wall with
M10 Gr.8.8 bolts through
250x50x8thk tag plates F6 to
UC at 225mm vertical ctrs

5

5

Chamfer both ends of UB's to suit
garage roof line with 3No. 12mm thk
web stiffeners (both sides of web) and
12mm thk top flange plate F6 to UB

See typical
chamfer detail

5

5

Chamfer both ends of UB's to
suit garage roof line with
3No. 12mm thk web stiffeners
(both sides of web) and 12mm
thk top flange plate F6 to UB

See typical
chamfer detail

Beam 1: 152x152x30 UC

Existing foundations to remain
under "picture frame".  Builder
to explore and check existing
foundation depth before
ordering steelwork

Existing Garage
rafters shown dashed

Existing external cavity
walls (shown dashed)

Existing external cavity
walls (shown dashed)

SECTION 1-1
SCALE 1:10

Beam 1: 152x152x30 UC

Existing marble
finishes to bathroom

Existing wall (approx 175mm
offset from wall below)

Existing floor joists (shown
indicatively) cut back and
hung from proprietary
joist hangers to UC

Bolt timber noggins to UBs
with M10 Gr. 4.6 bolts @
600 staggered ctrs

Top Beam to "Picture Frame":
2No. 406x140x46 UBs connected
together with 140x140x6 SHS
connectors @ approx 1m Ctrs with
4No. M16 Gr. 8.8 bolts through

Beam 1: 152x152x30 UC

150x150x10thk end plate
F6 to UC with 4No. M12
Gr. 8.8 bolts through

SECTION 3-3
SCALE 1:10

Top Beam to "Picture Frame":
2No. 406x140x46 UBs connected together
with 140x140x6 SHS connectors @ approx
1m Ctrs with 4No. M16 Gr. 8.8 bolts through

Existing trusses to garage
roof (shown indicatively)

275
Existing 275mm cavity wall
(as confirmed by client -
TBC before ordering steel)

Existing marble finishes to
bathroom to be removed and
reinstated following installation
of Beam1 and "Picture Frame"

Existing floor joists
(shown indicatively)

SECTION 4-4
SCALE 1:10

Bolt timber noggins to UBs with M10
Gr. 4.6 bolts @ 600 staggered ctrs

250x50x8thk tag plates F6
to web of UC @ 225mm
vertical centres staggered
with M10 Gr.8.8 resin
anchors into existing wall
(80mm embedment)

203x203x52 UC post
(set 20mm inside
from outer leaf) and
paint two layers of
bituminous paint to
entire post

Dry line existing wall
with finishes to suit
(or locally box posts)

Remedial wall ties @
225mm vertical ctrs

Remedial wall ties @
225mm vertical ctrs

POST/WALL DETAIL
SCALE 1:10

Existing 275mm cavity wall
(as confirmed by client -
TBC before ordering steel)

Bottom Beam:
254x254x107 UC
wrapped with 2 layers
of D49 mesh (lapped
100mm) and cast within
450w x 400thk RC35
concrete ground beam

250x325x15thk
baseplate F8 to UC
with 6No. M20 Gr.
8.8 bolts through

203x203x52 UC post
(set 20mm inside
from outer leaf)

Top Beam to "Picture Frame":
2No. 406x140x46 UBs
chamfered at both ends of
UB's to suit garage roof line
with 12mm thk top flange
plate F6 to UB

3No. 12mm thk web
stiffeners (both sides of web)
see typical chamfer detail

300x200x15thk end plate
F6 to UC with 8No. M16
Gr. 8.8 bolts through in
total (captivated bolts to
4No. inner bolts)

SECTION 5-5 & BASEPLATE DETAILS
SCALE 1:10

250x325x15thk
baseplate F8 to UC
with 6No. M20 Gr.
8.8 bolts through

Bottom Beam:
254x254x107 UC

203x203x52 UC post

PLAN:

SECTION:

TYPICAL CHAMFER
DETAIL AT END OF BEAM
SCALE 1:10

12mm thk web
stiffener at start
to chamfer (both
sides of web)

Top Beam to "Picture Frame":
2No. 406x140x46 UBs
connected together with
140x140x6 SHS connectors
@ approx 1m Ctrs with 4No.
M16 Gr. 8.8 bolts through

12mm thk web stiffener
(both sides of web) aligned
with post flange below)

Chamfer both ends of UB's to follow
top of Garage rafters with 12mm
thk top flange plate F6 to UB

300x200x15thk end plate
F6 to UC with 8No. M16
Gr. 8.8 bolts through in
total (captivated bolts to
4No. inner bolts)

2 24

4

3

3

1 1

5

5

5

5

PROPOSED GROUND FLOOR PLAN SHOWING  STRUCTURE OVER
Scale 1:50

Existing
floor joists

Existing
floor joists

Existing
trusses

Be
am

 1
: 1

52
x1

52
x3

0 
U

C

203x203x52 UC resin
anchored to existing wall with
M10 Gr.8.8 bolts through
250x50x8thk tag plates F6 to
UC at 225mm vertical ctrs

Top beam to "Picture Frame":
2No. 406x140x46 UB's

connected together

New wall to Boot Room
shown indicatively
(final position/layout
TBC by client)

203x203x52 UC resin
anchored to existing wall with
M10 Gr.8.8 bolts through
250x50x8thk tag plates F6 to
UC at 225mm vertical ctrs

Existing arch opening150xmm bearing onto a
330x100x150dp Class
B Eng brick padstone

NOTE:   All temporary propping and
             temporary stability by builder

Drawing No.

Scale    U.N.O.

Drawing Title

Rev

Date Drawn By

Client

Project

Rev

Telephone: (01953) 452001   Fax: (01953) 456955
E-mail: pdc@plandescil.co.uk   www.plandescil.co.uk

Connaught Road   Attleborough   Norfolk   NR17 2BW

Date Rev By Chkd Description

Matthew Green

Proposed Wall Removals
Hillcrest, North Pickenham Rd
Swaffham

Proposed Ground Floor G.A.
Plans & Sections 1-1 to 6-6

As Shown(A1) 10-02-20 JCB

025775/ SK01
reproduction infringes copyright.    
Consulting Engineers Ltd. Unauthorised
thereon are the copyright of Plandescil
This drawing and the works depicted

First Issue0 12-02-20 AJB

GENERAL NOTES:

1. All dimensions noted are in millimetres unless stated otherwise.
2. All levels to be above Ordnance Survey Datum defined levels

(A.O.Dm) unless noted otherwise.
3. Do not scale from this drawing, if dimensions are not clear ask.
4. This document has been created in accordance with Plandescil

Ltd. Terms & Conditions along with the scope of works provided
by the client to Plandescil Ltd. Any use of this document other
than for its original purpose is prohibited, Plandescil Ltd. accept
no liability for any third party uses of this document.

5. Plandescil Ltd. to be immediately notified of any suspected
omissions or discrepancies.

6. This drawing is to be read in conjunction with all other relevant
documents relating to the project.

7. All setting out to be coordinated by the Contractor and to be
checked onsite prior to construction.

8. All steelwork hot rolled UB's and UC's Grade S275, all SHS and
RHS to be hot/cold finished Grade S355, Execution Class 2, to
BS.EN10025 designed by Plandescil Ltd:

9. All bolts Grade 8.8 bolted U.N.O.
10. Steelwork to be in accordance with BS 5950 part 2 and National

Structural Steelwork Specification for Building Construction (6th
edition) published by the BCSA and SCI.

11. Fabrication drawings to be produced by Steelwork
Manufacturer.

12. All temporary propping, bracing and shoring by builder.
13. Foundation depths to be agreed with Building Control on site.
14. Waterproof details/specification by others.
15. Internal finishes to be dot and dab plasterboard except

studwalls.
16. Permission by the building owner should be gained before

undertaking the works.

ISSUED FOR CLIENT
REVIEW

AutoCAD SHX Text
c


	Sheets and Views
	SK01


